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Commentary on learner responses to each question  

The comments here are informed suppositions or deductions about the ways in which young people 

have arrived at responses, right or wrong. 

 The questions more or less follow the thread of Alistair’s narrative about his experience and 

attitudes to his professional career as an athlete. Pupils who construct a mental ‘map’ of the 

text as they listen, integrating sound and moving images, are likely to find answering the 

questions easier than those whose listening and watching is more fragmented and 

impressionistic. 

 Pupils who take full advantage of the facility to move back and forth between film clip and 

questions to find or check their responses, and are able to do so confidently and efficiently, are 

likely to be more successful in selecting the correct answers. It is likely that less confident or 

proficient watchers, or those who find navigation difficult, are less likely to review the text more 

than once, if at all, relying on their initial impressions and memory. 

Q4: Many athletes time their cycling runs to the minute. How is Alistair different? 

 This was the only open response question, and proved the most difficult of the five questions 

for the sampled pupils. Just under half constructed a correct answer, identifying that unlike 

some athletes Alistair enjoyed his riding (and therefore did not worry about timing his rides).  

- This question came in the middle of the test, following the sequence of Alistair’s narrative. 

The ordering may have been helpful to pupils, but the wording of the question did not relate 

directly to the correct answer, which required some inference from the spoken text. 

- Finding the correct answer to this question required careful listening to quite complex ideas 

about the experience of being a professional athlete, how others as well as himself 

experienced it, and comparing his personal experience with that of other athletes.  

- Although the clip is about an athlete’s training, and contains sections showing Alistair in 

action (going to work, running and cycling), constructing the correct answer to this question 

requires pupils to listen carefully to quite a lengthy description of his experience that relates 

only generally to what is in the moving images.  

- Girls found this question easier than boys, with around half of the girls answering correctly, 

compared with around 40% of the boys. It is possible that girls related more readily to a film 

clip about experience and found it easier to empathise with the athlete. The idea that exact 

timing of parts of his training schedule might seem less important than enjoyment may be 

counter-intuitive for pupils with experience of sports training, perhaps boys in particular. 

 Around 15% of pupils wrote that Alistair was different because he wasn’t constantly counting 

the minutes until he had finished his run. While this is true, it simply restates the question, 

failing to explain the connection between what he does and his enjoyment of riding, and how 

this is different from other athletes.  

 A further 15% of pupils provided a variety of other incorrect answers, while just under a fifth 

provided no answer at all, a total of just over a third of all sampled pupils. It is impossible to 
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judge whether very brief or nil responses were due to lack of recall/understanding, or lack of 

technical skills in answering on-line using a keyboard to compose in a text box. 

Q5: What does Alistair accept as a downside of being an athlete? 

 This proved the most challenging of the multiple-choice questions, with just over half of pupils 

providing the correct answer, ‘He can’t do everything he wants’. Although the question comes 

in sequence with the clip’s narrative, it requires interpretation of quite a complex section of the 

script, to identify that training must take priority over other things he enjoys if Alistair is to be a 

successful athlete, and that this is a compromise that he is happy to make. These ideas are set 

amongst several plausible competing possibilities in the clip.  

 Around a quarter of pupils chose the answer ‘He has to get up early’, and a few chose ‘He has to 

travel a lot’.  

- These pupils may have recalled a section early in the clip, where the camera focuses on 

Alistair getting into his car early in the morning and setting off for work. The narrative 

emphasises that he does not mind doing this as it is part of his job. However, the relevant 

part of the narrative for this question comes later, summarising his priorities. There may 

have been a problem here for some pupils in listening accurately, integrating sound and 

pictures, recalling detail, or constructing a mental map of the text as a whole.  

- The word ‘accept’ in the question may have misled some pupils, who perhaps focused on 

‘downside’ and related it to their own experience rather than Alistair’s attitude. This would 

take them to the other distractors relating to being an adolescent school pupil rather than 

being a professional athlete. Getting up early is an obvious ‘downside’ for an adolescent.  

 Girls found this question slightly easier than boys, with around 60% selecting the correct answer 

compared with around half of the boys. It is possible that girls find it easier to see things from a 

perspective other than their own. However, the difference is not statistically significant. 

Q6: What is Alistair’s biggest motivation? 

 This was the final question in the set. It required pupils to integrate material from throughout 

the clip, rather than following in sequence from previous questions. Nevertheless, it was 

correctly answered by two-thirds of pupils, who selected ‘His love of the Yorkshire countryside’.  

- Even for those who found integration difficult, the considerable emphasis given to Alistair’s 

love of Yorkshire throughout the clip, in both voiceover and images, is likely to make it an 

obvious choice of option.  

- The question and correct option also clearly match the short, confident assertion ‘Yorkshire 

means everything to me’. 

 However, nearly a fifth of pupils opted for the answer ‘His desire to win lots of medals’.  

- Alistair’s discussion of his motivation in relation to winning and medals come towards the 

end of the clip, and may therefore be uppermost in the minds of those whose short-term 

memory, integration of ideas or mapping of the text as a whole is less secure. He does say, 

‘When you win a race, everything’s worth it … It’s what you .. kind of ... get up for, really’, but 

having already said that most of the time he’s just doing what he really enjoys.  
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- Pupils with an interest in competitive athletics may expect a response related to the desire 

to win, taking their own experience as a basis for their choice rather than listening for the 

athlete’s views. 

 Just fewer than 10% of pupils selected the option ‘His need to be a famous athlete’. The idea of 

‘need’ is really quite sophisticated in this context, suggesting a psychological as well as an 

emotional dimension. Pupils who chose this incorrect option may nevertheless have picked up 

the rather unexpected and perhaps slightly unconventional slant of the clip in relation to being 

a successful athlete.  

 Perhaps unexpectedly, given this question’s emotional focus, boys were slightly more likely than 

girls to select the correct response. It is possible that their experience of competitive sport and 

training (perhaps in football?) had given them a better understanding of the concept of an 

athlete’s ‘motivation’. However, this difference is not statistically significant. 

Q3: Why is Yorkshire a good place to train? 

 This proved to be one of the easier questions in the set. Nearly three quarters of sampled pupils 

answered correctly, choosing option A, It has lots of footpaths.  

- Making a correct choice of option depended on accurate listening for the detail of what 

Alistair said, but was also strongly reinforced by the focus of the camera as he was speaking 

about Yorkshire on Alistair running along narrow, winding footpaths in the hills. 

- Nearly 15% chose option C, its roads are long and wide. Alistair does make reference to long 

roads, but also specifically mentions that they are narrow and winding. Choice of this option 

involved a failure to integrate pictures and spoken text, and possibly confusion of ‘wide’ with 

‘winding’ in recall of what the athlete said.  

- A few pupils chose option B, The weather is good. Alistair did make reference to the 

weather, and the weather in the film was good. However, his remark about good weather 

was followed with an ironic ‘or not…’, and laugh. General knowledge of the UK climate might 

have been helpful in picking up this irony.  

Q2, Q1: What is Alistair’s attitude to training and sport? Alistair Brownlee is a …. 

 These were the easiest two questions for the sampled pupils, with very few failing to choose 

the correct options, Training is part of his life and Triathlete respectively. 

- For Q2, the easiest in the set, there were direct references throughout the clip to training 

being part of the athlete’s life. The other options are all direct contradictions of what he 

said. 

- Those few who answered Q1 incorrectly chose option C, cyclist, possibly because the latter 

part of the clip focused on this aspect of being a triathlete, with the reference to being a 

triathlete, and the swimming and running activities, coming earlier on. 

- For both questions, the small number of nil responses was most likely due to difficulties in 

viewing the clip, rather than failure to understand it. 
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